Missing Number Calculations
2 Digit by 1 Digit Multiplication

Fill in the missing boxes to make each calculation correct.

1. 2. 3. 4,
9 7 7 1 9
X 8 X 2 X X 7
7 2 0 7 4 4 2 6 4 8 3
5. 6 7. 8
4 1 8 9 7
X X 5 X 6 X 8
2 4 6 4 0 5 4 1 4 5 6 0
9. 10. 11. 12.
4 5 1 2 4 2
X 8 X X 4 X
5 1 2 3 5 7 8 8 1 6 8
13. 14. 15. 16.
3 6 6 2 8
X 3 X 6 X X 9
1 1 4 2 1 6 1 2 4 7 4 7
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17. 18. 19. 20.
3
X X X X 9
7 1 2 3 7
21. 22. 23. 24,
X X X X 9
3 1 4 6
25. 26. 27. 28.
X X X X 7
1 6 2 5 6
29. 30.
X X
2 3
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Missing Number Calculations Answers

Question Answer Question Answer
1]190x 8=720 16 | 83x 9 =747
2137x2=74 17 197x8=776
3171x 6=426 18 | 56 x 2=112
469x7=483 19| 55x 5=275
5141x 6=246 20 | 43 x 9 =387
6181x5=405 21120x4=280
7169x6=414 22 171x §=355
8170x8 =560 231 26x7=182
9164x8=512 24 | 54 x 9 =486
10 | 51x 7=357 25128 x 5=140
11122x4=288 26 196x7 =672
12 | 42 x 4=168 27 | 32x7 =224
131 38x3=114 28 | 78 x 7 =546
14 | 36 x 6 =216 29 139x7=273
151 62x2=124 30| 52x 6 =312
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